BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

BIDDER'S NAME

- 1) BLAZEY CONSTRUCTION SERVICES, LLC
- 2) KENNETH LAMB CONSTRUCTION CO., LTD.
- 3) C. E. BARKER, LTD.

CONSTRUCTION OF THE WATER, SANITARY SEWER, FORCE MAIN, DRAINAGE AND DETENTION FACILITIES TO SERVE ENCLAVE AT NEWPORT SECTION 1 NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS **DECEMBER 13, 2024** LJA ENGINEERING, INC. S. YOUNG DECEMBER 13, 2024 3432-1101D (9.2)

> TOTAL BID AMOUNT

> > \$1,906,856.16

\$1,959,915.70 *

\$2,775,961.07

CALENDAR DAYS - 60/70



, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

			1) BLAZEY CONSTRUC	TION SERVICES, LLC	2) KENNETH LAMB CC	INSTRUCTION CO.,	3) C. E. BARI	KER, LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS								
 8° PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	2250	\$40.00	\$90,000.00	\$51.00	\$114,750.00	\$45.00	\$101,250.00
 8° PVC WATER PIPE WITH RESTRAINED JOINTS, AWWA C-900, DR 18 CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	402	\$57.00	\$22,914.00	\$74.00	\$29,748.00	\$80.00	\$32,160.00
3. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	2908	\$0.30	\$872.40	\$2.00	\$5,816.00	\$0.01	\$29.08
 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, FITTINGS, GATE VALVE AND BOX, AND LEAD PIPE, COMPLETE IN PLACE 	EA	6	\$5,810.00	\$34,860.00	\$6,403.00	\$38,418.00	\$6,100.00	\$36,600.00
5. 8" AWWA GATE VALVE AND BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$2,028.00	\$22,308.00	\$2,107.00	\$23,177.00	\$2,300.00	\$25,300.00
6° PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	446	\$31.00	\$13,826.00	\$71.00	\$31,666.00	\$30.00	\$13,380.00
 REMOVE AND DISPOSE 8" PLUG AND CLAMP AND 2" BLOW OFF VALVE AND BOX AND CONNECT PROPOSED 8" WATER LINE, COMPLETE IN PLACE 	EA	2	\$1,091.00	\$2,182.00	\$1,051.00	\$2,102.00	\$1,500.00	\$3,000.00
8. AUGER AND STEEL CASING FOR 8" WATER LINE, COMPLETE IN PLACE	LF	190	\$168.00	\$31,920.00	\$106.00	\$20,140.00	\$100.00	\$19,000.00
9. STEEL CASING FOR 6" WATER LINE (DOES NOT INCLUDE CARRIER PVC PIPE), COMPLETE IN PLACE	LF	120	\$65.00	\$7,800.00	\$73.00	\$8,760.00	\$105.00	\$12,600.00
10. 16" X 8" TAPPING SLEEVE AND VALVE & BOX, COMPLETE IN PLACE	EA	1	\$5,151.00	\$5,151.00	\$5,101.00	\$5,101.00	\$15,000.00	\$15,000.00
11. 8" X 8" TAPPING SLEEVE AND VALVE & BOX, COMPLETE IN PLACE	EA	1	\$6,069.00	\$6,069.00	\$5,901.00	\$5,901.00	\$12,000.00	\$12,000.00
12. 8" DOMESTIC WATER METER ASSEMBLY AND VAULT, WITH BACK FLOW PREVENTION DEVICE, COMPLETE IN PLACE	EA	1	\$48,585.00	\$48,585.00	\$65,000.00	\$65,000.00	\$70,000.00	\$70,000.00
 REMOVE AND OFFSITE DISPOSAL OF EXISTING WATER LINE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE 	EA	745	\$8.00	\$5,960.00	\$18.00	\$13,410.00	\$25.00	\$18,625.00
SUBTOTAL WATER ITEMS				\$292,447.40		\$363,989.00		\$358,944.08
SANITARY SEWER ITEMS								
 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 0"-8" DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	2755	\$39.50	\$108,822.50	\$42.00	\$115,710.00	\$60.00	\$165,300.00
 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 8'-12' DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	186	\$45.00	\$8,370.00	\$49.00	\$9,114.00	\$80.00	\$14,880.00
3. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	2941	\$0.30	\$882.30	\$2.00	\$5,882.00	\$0.01	\$29.41
4. STANDARD SANITARY SEWER MANHOLE (0'-8' DEPTH), (INCLUDES INFLOW PROTECTOR), COMPLETE IN PLACE	EA	25	\$3,462.00	\$86,550.00	\$3,226.00	\$80,650.00	\$3,500.00	\$87,500.00
5. EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	45	\$196.00	\$8,820.00	\$270.00	\$12,150.00	\$300.00	\$13,500.00
 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDES CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG DROPS, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE 	LF	733	\$56.50	\$41,414.50	\$46.00	\$33,718.00	\$95.00	\$69,635.00
7. "LONG SIDE" DOUBLE OR SINGLE 8" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, RISER, WVE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	106	\$56.00	\$5,936.00	\$52.00	\$5,512.00	\$110.00	\$11,660.00
 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDES CEMENT STABILIZED SAND BACKFILL, WYE, PLUG, DROPS, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE 	EA	26	\$1,805.00	\$46,930.00	\$1,228.00	\$31,928.00	\$2,000.00	\$52,000.00
T.V. INSPECTION OF SANITARY SEWER LINES, ALL DEPTHS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2941	\$3.00	\$8,823.00	\$3.00	\$8,823.00	\$1.00	\$2,941.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

LJA JOB NO.			0402 11018 (0.2)					
			1) BLAZEY CONSTRUC	TION SERVICES, LLC	2) KENNETH LAMB CO	INSTRUCTION CO.,	3) C. E. BARI	KER, LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
 ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 	LF	1000	\$17.25	\$17,250.00	\$15.00	\$15,000.00	\$15.00	\$15,000.00
 DEWATERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 	LF	1000	\$31.00	\$31,000.00	\$30.00	\$30,000.00	\$25.00	\$25,000.00
12. STANDARD 6" SANITARY SEWER STACK, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$766.00	\$766.00	\$776.00	\$776.00	\$1,200.00	\$1,200.00
 NON-CORROSIVE SANITARY SEWER MANHOLE, (INCLUDES INFLOW PROTECTOR), COMPLETE IN PLACE 	EA	1	\$3,578.00	\$3,578.00	\$7,601.00	\$7,601.00	\$8,600.00	\$8,600.00
14. REMOVE PORTION OF EXISTING 4" FORCE MAIN AND CONNECT PROPOSED 4" FORCE MAIN, COMPLETE IN PLACE	EA	1	\$992.00	\$992.00	\$7,901.00	\$7,901.00	\$2,800.00	\$2,800.00
15. REMOVE EXISTING FORCE MAIN, INCLUDES CLEAN UP AND DISPOSAL OF PIPE AND SEWAGE, ALL DEPTHS, COMPLETE IN PLACE	LF	800	\$9.50	\$7,600.00	\$25.00	\$20,000.00	\$25.00	\$20,000.00
 4" PVC FORCE MAIN, ASTM D-2241, SDR 17, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE 	LF	240	\$23.00	\$5,520.00	\$35.00	\$8,400.00	\$85.00	\$20,400.00
SUBTOTAL SANITARY SEWER ITEMS				\$383,254.30		\$393,165.00		\$510,445.41
OFFSITE SANITARY SEWER ITEMS				0 104				
 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 0"-8" DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	961	\$39.50	\$37,959.50	\$42.00	\$40,362.00	\$175.00	\$168,175.00
 18" PVC SANITARY SEWER PIPE, ASTM D-2241, 0"-8" DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	981	\$89.75	\$88,044.75	\$86.00	\$84,366.00	\$240.00	\$235,440.00
 18" PVC SANITARY SEWER PIPE, ASTM D-2241, 8"-12" DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	819	\$94.00	\$76,986.00	\$96.00	\$78,624.00	\$260.00	\$212,940.00
4. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	2741	\$0.30	\$822.30	\$3.00	\$8,223.00	\$0.01	\$27.41
 STANDARD SANITARY SEWER MANHOLE (0'-8' DEPTH), (INCLUDES INFLOW PROTECTOR), COMPLETE IN PLACE 	EA	10	\$3,462.00	\$34,620.00	\$3,226.00	\$32,260.00	\$3,500.00	\$35,000.00
T.V. INSPECTION OF SANITARY SEWER LINES, ALL DEPTHS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2741	\$3.00	\$8,223.00	\$3.00	\$8,223.00	\$1.00	\$2,741.00
 ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 	LF	500	\$18.00	\$9,000.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00
DEWATERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$31.00	\$15,500.00	\$30.00	\$15,000.00	\$25.00	\$12,500.00
9, CORE TO EXISTING FORCE MAIN WITH 6" FORCE MAIN	LF	9	\$2,832.00	\$25,488.00	\$138.00	\$1,242.00	\$5,000.00	\$45,000.00
10. SANITARY SEWER CONFLICT MANHOLE, (INCLUDES INFLOW PROTECTOR), COMPLETE IN PLACE	EA	2	\$3,591.00	\$7,182.00	\$3,226.00	\$6,452.00	\$7,000.00	\$14,000.00
 CORROSION RESISTANT PRECAST MANHOLE FOR FORCE MAIN DISCHARGE, INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE 	EA	1	\$10,672.00	\$10,672.00	\$11,827.00	\$11,827.00	\$13,000.00	\$13,000.00
 REMOVE PORTION OF EXISTING 10" FORCE MAIN AND CONNECT PROPOSED 10" FORCE MAIN TO NON CORROSIVE MANHOLE, COMPLETE IN PLACEE 	EA	1	\$2,601.00	\$2,601.00	\$3,281.00	\$3,281.00	\$5,000.00	\$5,000.00
13. SAWCUT, FULL DEPTH OF EXISTING PAVEMENT, COMPLETE IN PLACE	LF	180	\$12.00	\$2,160.00	\$25.00	\$4,500.00	\$38.00	\$6,840.00
14. REMOVE AND REPLACE 10" CONCRETE PAVEMENT AND SUBGRADE TO MATCH EXISTING, INCLUDES OFFSITE DISPOSAL, COMPLETE IN PLACE	SY	72	\$174.00	\$12,528.00	\$350.00	\$25,200.00	\$375.00	\$27,000.00
SUBTOTAL OFFSITE SANITARY SEWER ITEMS				\$331,786.55		\$327,060.00		\$785,163.41
DRAINAGE FACILITIES ITEMS								
1. 24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	1386	\$76.25	\$105,682.50	\$90.00	\$124,740.00	\$120.00	\$166,320.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

LJA JOB NO.			5452-1101D (5.2)					
			1) BLAZEY CONSTRUC	TION SERVICES, LLC	2) KENNETH LAMB CO	NSTRUCTION CO.,	3) C. E. BAR	KER, LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2. 30" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	332	\$100.00	\$33,200.00	\$116.00	\$38,512.00	\$145.00	\$48,140.00
3. 42" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	216	\$168.00	\$36,288.00	\$206.00	\$44,496.00	\$265.00	\$57,240.00
4. 48" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	58	\$235.00	\$13,630.00	\$240.00	\$13,920.00	\$340.00	\$19,720.00
5. TRENCH SAFETY SYSTEM, ALL DEPTHS AND SIZES, COMPLETE IN PLACE	LF	1992	\$0.30	\$597.60	\$2.00	\$3,984.00	\$0.01	\$19.92
TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	16	\$4,134.00	\$66,144.00	\$4,781.00	\$76,496.00 *	\$3,500.00	\$56,000.00
 TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE 	EA	1	\$6,160.00	\$6,160.00	\$6,726.00	\$6,726.00	\$13,000.00	\$13,000.00
8. OVERFLOW SWALE, COMPLETE IN PLACE	LF	305	\$3.00	\$915.00	\$20.00	\$6,100.00	\$12.00	\$3,660.00
 STAGE I – TYPE "B-B" REINFORCED CONCRETE PRECAST CURB INLET, ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS, COMPLETE IN PLACE 	EA	16	\$1,378.00	\$22,048.00	\$1,457.00	\$23,312.00 *	\$2,000.00	\$32,000.00
10. STAGE II – TYPE "B-B" REINFORCED CONCRETE PRECAST CURB INLET, INCLUDES STAGE II INLET PROTECTION, COMPLETE IN PLACE	EA	16	\$2,142.00	\$34,272.00	\$2,851.00	\$45,616.00	\$2,200.00	\$35,200.00
11. TYPE 'C' MANHOLE WITH TYPE 'E' INLET TOP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$8,339.00	\$8,339.00	\$4,981.00	\$4,981.00	\$10,000.00	\$10,000.00
SUBTOTAL DRAINAGE FACILITIES ITEMS				\$327,276.10		\$388,883.00 *		\$441,299.92
DETENTION POND ITEMS								
 ALL EXCAVATION FROM PROPOSED POND, AS INDICATED ON PLANS, COMPLETE IN PLACE 	CY	39338	\$4.36	\$171,513.68	\$3.00	\$118,014.00	\$3.00	\$118,014.00
BANK FILL OF POND, INCLUDES HAUL, COMPACTION, FINAL GRADING, AND REAPPLYING STRIPPING TO FILL AREA, COMPLETE IN PLACE	CY	751	\$2.23	\$1,674.73	\$2.50	\$1,877.50	\$5.75	\$4,318.25
 HAUL, PLACEMENT, GRADING AND COMPACTION OF EXCAVATED MATERIAL FROM PROPOSED POND TO EAST AREA OF GUM GUILLY, FILL SHALL BE COMPACTED TO 95% PROCTOR DENSITY WITH 8" LIFTS, IN ACCORDANCE WITH GRADING PLAN, COMPLETE IN PLACE 	CY	38587	\$2.23	\$86,049.01	\$2.50	\$96,467.50	\$6.00	\$231,522.00
 BACKSLOPE SWALE, INCLUDES EXCAVATION, EMBANKMENT, STRIPPINGS, RE- APPLICATION OF STRIPPINGS, AND COMPACTION TO 95% PROCTOR DENSITY, COMPLETE IN PLACE 	LF	1489	\$4.60	\$6,849.40	\$3.50	\$5,211.50	\$15.00	\$22,335.00
 BACKSLOPE INTERCEPTOR STRUCTURE, INCLUDES 24° C.G.M.P. STORM SEWER, AND SLOPE PROTECTION, COMPLETE IN PLACE 	EA	3	\$7,267.00	\$21,801.00	\$11,051.00	\$33,153.00	\$14,500.00	\$43,500.00
6. 10' EARTHEN PILOT CHANNEL, COMPLETE IN PLACE	LF	1016	\$10.50	\$10,668.00	\$4.20	\$4,267.20	\$14.00	\$14,224.00
7. AS-BUILT SURVEY OF FILL AREAS, PROVIDED PER LEVEL OF DETAIL IN FILL PLAN, INCLUDES ELECTRONIC DATA PROVIDED TO THE ENGINEER, COMPLETE IN PLACE	LS	1	\$14,339.00	\$14,339.00	\$5,500.00	\$5,500.00	\$15,000.00	\$15,000.00
8. CLEARING AND GRUBBING, TO INCLUDE CHIPPING AND HAULING OFFSITE OF CLEARED MATERIAL, ROOT RAKING AND BACK DRAGGING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$11,471.00	\$11,471.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
FLOATABLES COLLECTION SCREEN AND STRUCTURE (SEE DETAILS ON SHEETS 22-24), COMPLETE IN PLACE	EA	1	\$14,855.00	\$14,855.00	\$12,801.00	\$12,801.00	\$50,000.00	\$50,000.00
SUBTOTAL DETENTION POND ITEMS				\$339,220.82		\$287,291.70		\$513,913.25
MISCELLANOUS ITEMS								
STORM WATER POLLUTION PREVENTION PLAN, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL OF FILTER FABRIC FENCING, INLET PROTECTION, CONCRETE WASHOUT, AND CONSTRUCTION ENTRANCE, ETC., COMPLETE IN PLACE	LS	1	\$1,721.00	\$1,721.00	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00
FILTER FABRIC FENCE (SILT BARRIER FENCING), TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	2,680	\$2.50	\$6,700.00	\$1.65	\$4,422.00	\$2.00	\$5,360.00
3. DRY APPLICATION SEEDING FOR POND SIDE SLOPES, COMPLETE IN PLACE	AC	1.61	\$4,589.00	\$7,388.29	\$5,500.00	\$8,855.00	\$3,000.00	\$4,830.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

			1) BLAZEY CONSTRUCT	TION SERVICES, LLC	2) KENNETH LAMB CO	ONSTRUCTION CO.,	3) C. E. BAR	KER, LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
 BROADCAST SEEDING FOR FILL AREAS, FERTILIZING AND WATERING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 	AC	15.9	\$918.00	\$14,596.20	\$1,000.00	\$15,900.00	\$450.00	\$7,155.00
INSTALL, MAINTAIN AND REMOVE STABILIZED CONSTRUCTION ACCESS, COMPLETE IN PLACE	EA	1	\$2,065.00	\$2,065.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
6. CONCRETE TRUCK WASHOUT, COMPLETE IN PLACE	EA	1	\$603.00	\$603.00	\$200.00	\$200.00	\$750.00	\$750.00
 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING INSPECTIONS, MAINTENANCE OF FILTER FABRIC AND STABILIZED CONSTRUCTION ACCESS, COMPLETE IN PLACE 	LS	1	\$230.00	\$230.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
8, REMOVE AND REPLACE TRAFFIC SIGNS AS NEEDED FOR CONSTRUCTION, COMPLETE IN PLACE	LS	1	\$6,767.00	\$6,767.00	\$1,500.00	\$1,500.00	\$30,000.00	\$30,000.00
ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, ALL SIZES AND DEPTHS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	LF	250	\$15.00	\$3,750.00	\$5.00	\$1,250.00	\$15.00	\$3,750.00
 DEWATERING FOR STORM SEWERS (GROUND WATER), (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 	LF	250	\$27.00	\$6,750.00	\$20.00	\$5,000.00	\$25.00	\$6,250.00
11. INLET PROTECTION BARRIERS, COMPLETE IN PLACE	EA	3	\$63.50	\$190.50	\$300.00	\$900.00	\$200.00	\$600.00
 DEMUCK EXISTING WET AND UNSTABLE SOILS, DEMUCKED MATERIAL TO BE HAULED OFF AND BECOME PROPERTY OF THE CONTRACTOR, COMPLETE IN PLACE 	CY	10,000	\$16.72	\$167,200.00	\$15.00	\$150,000.00	\$5.00	\$50,000.00
13. TEMPORARY TRAFFIC CONTROL PLAN, COMPLETE IN PLACE	LS	1	\$14,910.00	\$14,910.00	\$5,500.00	\$5,500.00	\$50,000.00	\$50,000.00
SUBTOTAL MISCELLANOUS ITEMS				\$232,870.99		\$199,527.00		\$166,195.00
BID SUMMARY								
SUBTOTAL WATER ITEMS				\$292,447.40		\$363,989.00		\$358,944.08
SUBTOTAL SANITARY SEWER ITEMS				\$383,254.30		\$393,165.00		\$510,445.41
SUBTOTAL OFFSITE SANITARY SEWER ITEMS				\$331,786.55		\$327,060.00		\$785,163.41
SUBTOTAL DRAINAGE FACILITIES ITEMS				\$327,276.10		\$388,883.00 *		\$441,299.92
SUBTOTAL DETENTION POND ITEMS				\$339,220.82		\$287,291.70		\$513,913.25
SUBTOTAL MISCELLANOUS ITEMS				\$232,870.99		\$199,527.00		\$166,195.00
TOTAL AMOUNT BID				\$1,906,856.16		\$1,959,915.70 *		\$2,775,961.07